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582,020

167,980

FTADN =S TH 3

N
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315,000

577,500

172,500

402 GI2tXH201 &

S
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135,000
315,000

577,500

172,500

01 21 2tXt=

1,500,000, 000 *50%

N

Mo

750,000
750,000

750,000

300,000
135,000
315,000
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172,500

HOH W
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160,836
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O It YR Z E& 2L 200,000& *25 Ml E 5,000
ABrE A Z 2,800 2,800 0
HALAHIE &2 2,800 2,800 0
Olt=sJt =28 us ¥ &#8F ¥ 02 7,000& *80H x53] 2,800
QIZtRH201 A 147,500 112,500 35,000
QIZER 28 X 147,500 112,500 35,000
OMAS B 25,000, 000 * tha*50% 12,500
o= AL A 19,000,000 *10ha*50% 95,000
OZ At 2= A 10,000& *2,000== *50% 10,000
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o= 1,000,000& *20ha*50% 10,000
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SN ERSTAD
o HHSENESSH(SEHLLN/5Y - 58)
S SBREREI MM (25l &2
S BB SA(BH) - MEANY - BES 0f & o8 e HIDS2
O%zna =29 6,300
—AANLY L DHHE S 450,0002! *143] 6.300
Ossls= 448 300, 00021 421 1,200
BRSNS YN 141,000 50,000 91,000
402 2124 X2 0] & 141,000 50,000 91,000
0l QAT =R E 141,000 50,000 91,000
OTX, 01 20I% Mok AlE 80,000
—5t2a & 20,0002 %6, 0001 *50% 60,000
23 8,000, 00021 ¥52 *50% 20,000
ORSY Q0T MAUEHT S4 50,000, 0002 * 17 4 %50% 25,000
OUTHE 28 MASHS 84 6,000,000 *12hax50% 36,000
SEXN2UIIEES 120,000 0 120,000
= 60,000
2 60,000
402 212X+ 01 & 120,000 0 120,000
2 60,000
2 60,000
0l PATEEE 120,000 0 120,000
SEFICEIT 120,000
—QUAEE MihIlE AlY 100,000, 00024 *17H 2 100,000
2 50,000
2 50,000
— 20 AFML UIEES AY 20,000, 00021 * 174 20,000
2 10,000
= 10,000
SEXRSCH XY 473,000 162,216 310,784
= 192,200
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o ANSSNSSL (SN +M/5 - 5E)
Cel: SERSDEI M (e ®e)
= = & E
S B SHA(SH) - MRAY - BES O 4+ 04 e HRE2
= 280,800
307 £I2H0I & 30,000 32,876 ~2,876
= 15,000
= 15,000
=P 30,000 32,876 A2,876
OZHI2E ALl 30,000
—EESM2 ASEA N 30,000, 0002 30,000
= 15,000
= 15,000
402 P12 T2 O] 443,000 129,340 313,660
& 177,200
= 265,800
NIESETES 443,000 129,340 313,660
OZHI2 AL 443,000
—22Y M X AY 360,000 *50ha*80% 14,400
= 5,400
= 9,000
—HEU NAAY 36,0002 *2004¢ Xt x50% 3,600
= 1,800
2 1,800
—QOIX MAETT E4 34,000,000 *25ha*50% 425,000
= 70,000
= 255,000
HYAD AN EY 183,255 184,687 A1,432
101 I244] 44,781 41,213 3,568
VBE EESIETRS 44,781 41,213 3,568
omel gy 44,781
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el SNEIMMN CEERED
S BB SA(BH) - MEANY - BES 0f & o8 e HIDS2
- 51,6802 x2Z +302 3,101
- o 41,6802 ¥10% *100 41,680
201 LBt bl 70,924 70,924 0
01 Ak 2relt] 70,924 70,924 0
OEXN 8202 58,200 47,724
OIS EY s=e 9l = 10021 58,0001 *43] 23,200
206 T 2t 62,550 62,550 0
01 T 2t 62,550 62,550 0
Ol EX 5002 58,200 29,100
OX, 4, WZEX S 100 *38,000 3,800
&l bl 3,3002 +3, 200 23] 21,120
ovlz 25,0002 *95Z 23| 4,750
osly 60,0002 x63 3,780
401 Al EHI L 2 THEI 5,000 10,000 A5,000
01 Al &t 5,000 10,000 £5,000
ORAIE FbI(2HE, 1,000,0002 *54] 5,000
SoSHE (DSBS 200,000 0 200,000
3 100,000
z 100,000
201 Y2 H Y| 16,000 0 16,000
3 8,000
z 8,000
01 Ak 2relt] 6,000 0 6,000
OZ =3 AMA 6,000
—HERAES S 6,000
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fA:

2 X2 ot

Ha: ANSESRSSL(SFHSL4/5 - 55)
ool ARSI eS (69 &2
= = & E
S BB SA(BH) - MEANY - BES 0f & o8 e HIDS2

NIESETES 124,900 94,400 30,500
OBME ZANY 232 N 80,0002 9605 *50% 38,400
ON&BIRA BAML XIS AL 19,500
o 6,000, 0002 *4CH *50% 12,000
—ZolzaH 600, 000 25 *50% 7,500
ODNE2I5 ZYHl B2 A (UEs 52) 6002 *50, 0002 *50% 15,000
OASHS aJl& A 8,000, 000! *4ha*50% 16,000
OO THENEHX M AA B AR 2 800,000% *15ha*50% 6,000
OZTHHE Al'E 12,000, 0008 *2. 5ha*50% 15,000
Oxcea g2gs) U 15,000, 000! *2CH *50% 15,000

=SIEE= RN, 243,000 102,600 140,400

402 QI2ERH 20| 243,000 102,600 140,400

01 AT EEE 243,000 102,600 140,400
OEWIILYD Ma Xd 243,000
—sExg 100,000% %300 *50% 15,000
—E5AT X2 1,2002 %30, 0004 *50% 18,000
—ozEE 18 2,400%! %10, 0007 *50% 12,000
—ZE8QANE N 44,0002 *9,000m*50% 198,000

SHNESSIN 24,000 24,000 0

402 QI2ERH 20| 24,000 24,000 0

N ETES 24,000 24,000 0
Ostsl 2252 U 1,600 *30,000 *50% 24,000

A0S S 130,000 0 130,000
= 65,000
= 65,000




2AM:

2 X2 ot

Ha: ANSESRSSL(SFHSL4/5 - 55)
ool ARSI R S

% = & E
S B SHA(SH) - MRAY - BES O 4+ 04 e HRE2

402 2I2HAH201 ™ 130,000 0 130,000
= 65,000
= 65,000

01 2I2tRAE2E X 130,000 0 130,000
O=HIEZ AL 100,000
—EJINHE SR AEY 100,000,000 *1JH A 100,000
= 50,000
= 50,000
O=HIEZ AL 30,000
—E0E RSEY 28I |2 MUi2I= AIY 30,000, 000& 14 4 30,000
= 15,000
= 15,000

ANEMIIsE= 31,200 72,000 240,800
< 11,700
= 19,500

402 QIZ2tX20l A 31,200 72,000 240,800
& 11,700
= 19,500

01 Q2 E2E X 31,200 72,000 240,800
O&HIEZ AL 31,200
—20AS THHUHE B2AIE AlY 4,000,000 *1JH 2~ *80% 3,200
& 1,200
= 2,000
—20EE DM=sY AXZHUEE AlY 7,500,000 *2JH 2= *80% 12,000
= 4,500
= 7,500
— ANAJ0 NSOHH M3 AlY 10,000, 0002 * 17K 2~ x80% 8,000
= 3,000
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fA:

2 X2 ot

AU SEHERH (sHillYxd/=9 - &)
S@e AiESOIsE=2 (che:m e
= = PSHE!
EAH -3 .AA(3H) - HEALY - HAS 0ff Ao 'Oﬂ,'\_}% HuE2
= 5,000
—=UHSH MES 2= AME 10,000, 000& *1JH 2~ *80% 8,000
= 3,000
= 5,000
DEEJAWES M A 1,604,180 1,571,785 32,395
= 71,000
Dl 52,000
& 408,348
- 1,072,832
QFIFAI & AFS 99,932 40,300 59,632
402 212t X201 A 99,932 40,300 59,632
01 QI2tXI2E X 99,932 40,300 59,632
OLUsIIH XN (W2 5) 4,648,000 *430H *50% 99,932
A0S HAMAIEXHA 368,000 884,050 516,050
402 QI2EXH =201 & 368,000 884,050 516,050
01 It 2 E X 368,000 884,050 A 516,050
OZYIIAIEBHRA ZtHITHBE K& 20,000& x4 ,000 M *50% 40,000
OUTHHE HIEdtRAEX K& 20,000& *20,000m* *50% 200,000
Ot A8 A SIS 128,000
—HIJIHEGHR A 20,000& 10,000 m* *50% 100,000
— & 8,000, 000& *7& *x50% 28,000
SHEHUXIOIESESSAIE 150,000 0 150,000
= 60,000
= 27,000
- 63,000
402 QI2E X201 & 150,000 0 150,000
= 60,000
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FA: SN0
MM AN ER R
L= B

o
ool DEIANS S A (69 &2

= = & E
SA - EB - HA(BH) - NRAY - HES 0l & o e HIRE2
— T

27,000
63,000

H

8X 150,000 0 150,000
A 150,000
godxorE a=s3 15,000& #20, 000 M *50% 150,000

60,000
27,000
63,000

Mo

dlst=s2RSMATE 22,000 0 22,000
11,000
3,300
7,700

Mo A

402 QI2tX=0l A 22,000 0 22,000
11,000
3,300
7,700

Mo

01 &

A

22,000 0 22,000
22,000
55,000,000 *40% 22,000

11,000
3,300
7,700

ry
= =
it

|
=
m H

O
W

1~ B
>
R

OF
_>'—|_\
o
4
i

MW

>
x
o
=
O
A
=
rx

130,000 0 130,000
52,000
23,400
54,600

S

Mo

402 2I2tR=2 01 A 130,000 0 130,000

52,000
23,400

S

H
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2AM:
X XH -
L= B

el

=z
12

fEle=
Ol &t o

M

54,600

o

[

O

S
oy

=
>
Mt

nx K

|
>

P H
P

o
2 >

i e

HIDFZ THHHAI &)

20,000& = 13,000 m* *50%

S

M H

130,000
130,000

130,000

52,000
23,400
54,600

130,000

H

680,650

334,648
346,002

367,325

313,325

402

H

680,650

334,648
346,002

367,325

313,325

01

@)

H
=
HT

o
]
Mt

I
g
S

gl

P H
=
1)

oteA AMESUS X

—dII220 EXXA

8,000,000& *15ha*50%

16,500,000 & »2CH x40%

12,000,000 *7ha*50%

500& *161, 100==*50%

5,000,000& *30ha*50%

H M H

M H

H

680,650
680,650
60,000
30,000
30,000
13,200
4,950
8,250
42,000
21,000
21,000
40,275
16,110
24,165
75,000
37,500

367,325

313,325
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SN HSXAD
MM AN ER R
L= B

ANSSHESH (SYNY SN
Sel: DEZAMTSHN EER-E
= = &
S BB SA(BH) - MEANY - BES 0f & o8 e HIDS2
= 37,500
—NESE 2T X 50,0002 +7 S *50% 75
= 83
2 87
— I SI1 MY NS (FDGEXSI]| 9 55) 612,000, 0002 *50% 306,000
= 53,000
2 53,000
—HINSY FBEI| SH(LI D& W) 30, 000! *9, 600 *50% 144,000
= 72,000
2 72,000
Sl A EHRI X 50,000 100,000 A50,000
= 20,000
2 30,000
402 912t 0 B 50,000 100,000 A50,000
= 20,000
2 30,000
01 BAR =B E 50,000 100,000 A50,000
OSHIZE AL 50,000
— S MAAL HHSALY 20,000, 0002 *535 *50% 50,000
= 20,000
2 30,000
NELELO-PS- 103,598 180, 110 A76,512
101 21214] 35,698 33,005 2,603
VPR EESETPS 35,698 33,005 2,603
ONEeBHI Z4& 2 2ol A% 35,698
- 14,858
ez 51,6802 *1% +2002 10,336
- FR4Y 51,6802 * 12§ x502 2,584
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fA:

H: 2 ESSASHd(sgilLdsd/s2 - 55)
et DEE AN S M =EERT
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
BES(LE, MM, HE, A3) 12,920, 000& *15% 1,938
— o 20,840
2= 41,680& x 10 x50 20,840
201 L Er2 F I 37,400 38,080 A 680
01 At 2teltl 37,400 38,080 A 680
O&sHAZHI EXY I 850& *44,000m 37,400
206 M =l 20,500 33,000 212,500
01 M =4l 20,500 33,000 A 12,500
O3z d Y (2UE =8 S) 30,0003 x50& 7= 10,500
OagdZHI =4 MEY(HE, =% ) 2,000,000& x5& 10,000
401 AIEBIZ 2018l 10,000 76,025 A 66,025
01 Al & HI 10,000 76,025 A 66,025
OFRUAE Ul (g2, 5%, =2 S) 2,000,000& +5& 10,000
SENIES (MY - SLINL/RHLETRA) 54,326 52,596 1,730
UMY 54,326 52,596 1,730
AEMEH OIS 2A2H 54,326 52,596 1,730
101 I 24| 23,966 22,356 1,610
04 JI12ZtH 22 S8+ 23,966 22,356 1,610
Otz st zte| 23,966
—Jl2= 41,6803 x2H 200 16,672
—FE4Y 41,6802 x2% +502 4,168
—EE= 20,840,000 »15% 3,126
201 L Er2F I 25,360 25,240 120
01 At 22l 11,360 11,240 120
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2N A4S XE N
=EE ABB (MY - FAIY/2AYETRA)
ZCE S
_ SR
= WS (BIH) - NEAY - B 0],55
O%%=x st A 5,000
— MAIE 2x 5,000& x4= 1002 2,000
— &A% F 20,000 x100= 2,000
—JEtARE 2 10,000 x5 204 1,000
O&4£D AUz 60,000& x12& 720
Of0elAH 29| 350,000& = 12& 4,200
os2d) &4 120,000 = 12& 1,440
02 23224l 14,000 14,000
Odzle=a 50,000& x12& 600
OFEII2 1,100,000& x12& 13,200
OJIEt 22e3(A 50,000 x4 3| 200
401 Al EHI L 20 5,000 5,000
01 Al&H]| 5,000 5,000
Oekx skt 500,000,000 * 1% 5,000
HES2AAY| (X2 X)) (IIEH/IIE 110,652 110,652
Al 110,652 110,652
=3l 110,652 110,652
201 B2 A H| 66,312 66,312
01 AFE 22| 8l 47,668 47,668
OFRNENH 1,831,000& x18Y 32,958
OHXMN2I A (HSXY, sHAARA W) 30,000 x1H 102 +50, 000 1. 3H 116 7,840
O3 | 3,150
— EZ204A Y| 7,000 x18H »25 3,150
Oodxtz 1,800
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A
X ZH -
=1

el

=
P
1o
>
0
=

H)(O1EF/D1EH)

SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
—SINH=S A 150,000 »1CH+12& 1,800
ORI AIAE 160,000& x12& 1,920
02 3522l 18,644 18,644 0
OEMSXES 2,000, 000& =14 2 2,000
OxzEEE= 640,000 =3CH 1,920
OZMNERE = 120
— Xt 20,0003 *3CH »23| 120
OXt= XAl 604
= 504,000 = 1CH 504
-5 59,0003 = 1CH 59
- 32 41,0002 = 1CH 41
Ox &R Xl 2eltl 14,000
= 5,000
S&(& %, 25,000km Ol4tH) 5,000,000& »1CH 5,000
-5 5,000
Z8 (&=, 25% 012+, 20,000km Ol &) 5,000,000& = 1CH 5,000
—3t2 4,000
L8 (&%, 1€ 0I5k, 25,000km O] &) 4,000,000 *1CH 4,000
202 O Hl 39,420 39,420 0
01 = L B 39,420 39,420 0
OZ LAYl 120,000& »18H x12& 25,920
O&2 o bl 75,0003 x18G x 10 13,500
203 g2 =&dl 4,920 4,920 0
02 It 2= 720 720 0
OZ3tat g2 =8| 40,000 ~18H 720
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